
PHYSICS

BOOKS - ICSE

LAWS OF MOTION

Topic 1 2 Marks Questions

1. Identify the non-contact forces: 

Gravitational force, Tension force, Friction

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_62fgKV2ejkYe


force, Magnetic force, Air resistance force,

Electrostatic force.

Watch Video Solution

2. Name two contact force?

Watch Video Solution

3. State two similarities between contact and

non contact force.

Watch Video Solution

https://dl.doubtnut.com/l/_62fgKV2ejkYe
https://dl.doubtnut.com/l/_ROIl0mVDBpMp
https://dl.doubtnut.com/l/_EhZJSSitjhvf


Topic 1 3 Marks Questions

4. What is the effect of force on a rigid body ?

Watch Video Solution

5. What is the effect of force on non-rigid

body?

Watch Video Solution

https://dl.doubtnut.com/l/_EhZJSSitjhvf
https://dl.doubtnut.com/l/_1TVp9YWKfxMk
https://dl.doubtnut.com/l/_8Q2gdKYTmRuT
https://dl.doubtnut.com/l/_89nN0nUBL0CQ


1. What are non-contact forces ?

Watch Video Solution

2. State one factor on which the magnitude of

a non-contact force depends. How does it

depend on the factor stated by you?

Watch Video Solution

https://dl.doubtnut.com/l/_89nN0nUBL0CQ
https://dl.doubtnut.com/l/_0z0W2iHhx35d


3. What are the differences between contact

and non contact forces?

Watch Video Solution

4. In which of the following events non-contact

forces play the key role? 

(a) Falling of apple from tree 

(b) A football is kicked. 

(c) Iron pins are attracted towards a magnet 

(d) A porter carries a load. 

https://dl.doubtnut.com/l/_S5ikoBgs8yJ9
https://dl.doubtnut.com/l/_IOr2oIvDB2VJ


Topic 1 4 Marks Questions

(e) Charged comb attracts small pieces of

paper. 

(f) A tug-of-war

Watch Video Solution

1. Discuss the effects of force with examples.

Watch Video Solution

https://dl.doubtnut.com/l/_IOr2oIvDB2VJ
https://dl.doubtnut.com/l/_cLqEJyqEA7wx


Topic 2 2 Marks Questions

1. Mass of a moving body is doubled and

velocity is halved . What will be the change in

momentum ?

Watch Video Solution

2. Define linear momentum. On what factors it

depends?

Watch Video Solution

https://dl.doubtnut.com/l/_w5P91EeZHqNa
https://dl.doubtnut.com/l/_WJILyVgIuegt


3. Name the S.I. unit of force and define it.

Watch Video Solution

4. A body of mass 5 kg is moving with velocity

. Calculate its linear momentum.

Watch Video Solution

2ms − 1

5. Define linear momentum and state its S.I.

unit.

https://dl.doubtnut.com/l/_XAYoMhak9GOA
https://dl.doubtnut.com/l/_pUxgJMB5QU5D
https://dl.doubtnut.com/l/_DiDlPZtsk7XU


Watch Video Solution

6. The linear momentum of a ball of mass 50 g

is 0.5 kg m . Find its velocity.

Watch Video Solution

s − 1

7. A force of 15 N acts on a body of mass 2 kg.

Calculate the acceleration produced.

Watch Video Solution

https://dl.doubtnut.com/l/_DiDlPZtsk7XU
https://dl.doubtnut.com/l/_pH5ncAXtAAYs
https://dl.doubtnut.com/l/_o97CpGKBgayL
https://dl.doubtnut.com/l/_O4sxze0eGD6a


8. Calculate the magnitude of force which

when applied on a body of mass 0.5 kg

produces an acceleration of .

Watch Video Solution

5m  s − 2

9. Write the mathematical form of Newton.s

second law of motion. State the conditions if

any.

Watch Video Solution

https://dl.doubtnut.com/l/_O4sxze0eGD6a
https://dl.doubtnut.com/l/_F8Qv0iCH6vxy
https://dl.doubtnut.com/l/_kfdDDPh1lSX9


10. Draw graphs to show the dependence of

acceleration on force for a constant mass.

Watch Video Solution

11. Draw graphs to show the dependence of

force on mass for a constant acceleration

Watch Video Solution

12. How does the acceleration produced by a

given force depend on the mass of the body?

https://dl.doubtnut.com/l/_kfdDDPh1lSX9
https://dl.doubtnut.com/l/_PEcV6qrv4Ppz
https://dl.doubtnut.com/l/_ODPcNedxc0fF


Draw a graph to show it.

Watch Video Solution

13. State Newton's third law of motion.

Watch Video Solution

14. A light ball falling on ground, after striking

the ground rises upwards. Explain the reason.

Watch Video Solution

https://dl.doubtnut.com/l/_ODPcNedxc0fF
https://dl.doubtnut.com/l/_gN9Dax04sSRM
https://dl.doubtnut.com/l/_RHdE2ISP32h7


15. What is meant by the term inertia?

Watch Video Solution

16. State and explain the law of inertia (or

Newton's first law of motion).

Watch Video Solution

17. Name the factor on which the inertia of a

body depends and state how does it depend

https://dl.doubtnut.com/l/_wN0U1hWsu0YI
https://dl.doubtnut.com/l/_4tW0RAe0lQ6c
https://dl.doubtnut.com/l/_vmssrgH9KAWn


on the factor stated above.

Watch Video Solution

18. Name the two kinds of inertia.

Watch Video Solution

19. Give one example in each of the following 

constant

Watch Video Solution

https://dl.doubtnut.com/l/_vmssrgH9KAWn
https://dl.doubtnut.com/l/_8nSZabcnCD4T
https://dl.doubtnut.com/l/_IMyyVfescB3i


20. Give one example of the following: 

inertia of motion.

Watch Video Solution

21. Why does a person tend to fall when he

jumps out from a moving train and tries to

stop immediately?

Watch Video Solution

https://dl.doubtnut.com/l/_Ue6tIMdsEVoB
https://dl.doubtnut.com/l/_nEMUMQ1ImxGZ


22. Why does a coin, placed on a card, drop

into the tumbler when the card is rapidly

flicked with a finger?

Watch Video Solution

23. “When a train suddenly moves forward, the

passenger standing in the compartment tends

to fall backwards". Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_K0WFFzUP4EG8
https://dl.doubtnut.com/l/_NYoY7Sti04Jz
https://dl.doubtnut.com/l/_KaSTaZ9EK73I


24. "People often shake branches of a tree in

an attempt to cause the fruits to fall." Explain.

Watch Video Solution

25. Explain the following 

After alighting from a moving bus, one has to

run for some distance in the direction of bus

in order to avoid falling.

Watch Video Solution

https://dl.doubtnut.com/l/_KaSTaZ9EK73I
https://dl.doubtnut.com/l/_qPx86pbIjrr4
https://dl.doubtnut.com/l/_u8uvYWslZc9r


26. Dust particles are removed from a carpet

by beating it.

Watch Video Solution

27. A ball is hanging by string from the ceiling

of the roof. Draw a neat labelled diagram

showing the forces acting on the ball and the

string.

Watch Video Solution

https://dl.doubtnut.com/l/_u8uvYWslZc9r
https://dl.doubtnut.com/l/_eXj9mMCXXPVi


28. A spring is compressed against a rigid wall.

Draw a neat and labeled diagram showing the

forces acting on the spring.

Watch Video Solution

29. A wooden block is placed on a table top.

Name the forces acting on the block and draw

a neat and labelled diagram to show the point

of application and direction of these forces.

Watch Video Solution

https://dl.doubtnut.com/l/_BVV9FSiQxByC
https://dl.doubtnut.com/l/_lDPTHxEz08Cv


30. In the Fig., a block of weight 15 N is

hanging from a rigid support by a string. What

force is exerted by (a) a block on the string

and (b) a string on the block? Name and show

them in the diagram. 

https://dl.doubtnut.com/l/_lDPTHxEz08Cv
https://dl.doubtnut.com/l/_3h8erS0xVIoI


Topic 2 3 Marks Questions

Watch Video Solution

1. A truck carrying 500 kg sand was moving

with a velocity . After disposal of 200

kg sand what should be the velocity of the

truck to maintain same momentum as before?

(say mass of truck = 1000 kg)

Watch Video Solution

15ms − 1

https://dl.doubtnut.com/l/_3h8erS0xVIoI
https://dl.doubtnut.com/l/_m96ziu3yPzIY


2. State that which is action and which is

reaction in the following cases: A person

moving on the floor

Watch Video Solution

3. State that which is action and which is

reaction in the following cases: Firing a bullet

from a gun

Watch Video Solution

https://dl.doubtnut.com/l/_6a2CO3kVzs43
https://dl.doubtnut.com/l/_qfYe6cKuIGNb
https://dl.doubtnut.com/l/_gAhH4brK0P3b


4. Identify action and reaction forces in the

following cases: When you jump to land from

a boat.

Watch Video Solution

5. State Newton.s second law of motion.

Watch Video Solution

https://dl.doubtnut.com/l/_gAhH4brK0P3b
https://dl.doubtnut.com/l/_Bpc6C71f2W4x


6. Show that the rate of change of momentum

= mass x acceleration. Under what condition

does this relation hold?

Watch Video Solution

7. Two bodies A and B of same mass are

moving with velocities v and 2v, respectively.

Compare their inertia

Watch Video Solution

https://dl.doubtnut.com/l/_NsZ69KlDUTuM
https://dl.doubtnut.com/l/_9mC51FoBD6PL
https://dl.doubtnut.com/l/_1vSsbrXWPAxh


8. Two bodies A and B of same mass are

moving with velocities v and 2v, respectively.

Compare their momentum.

Watch Video Solution

9. A force causes an acceleration of  in

a body of mass 500 g. What acceleration will

be caused by the same force in a body of mass

5 kg?

Watch Video Solution

10m s − 2

https://dl.doubtnut.com/l/_1vSsbrXWPAxh
https://dl.doubtnut.com/l/_A7nsDjCaYGxa


10. A force acts for 0.1 s on a body of mass 2.0

kg initially at rest. The force is then withdrawn

and the body moves with a velocity of .

Find the magnitude of the force.

Watch Video Solution

2m s − 1

11. How can Newton.s first law of motion be

obtained from the second law of motion?

Watch Video Solution

https://dl.doubtnut.com/l/_5SdVpSByIGFf
https://dl.doubtnut.com/l/_OGrgsLJcFmpG


Topic 2 4 Marks Questions

1. A body of mass 500 g, initially at rest, is

acted upon by a force which causes it to move

a distance of 4 m in 2 s, Calculate the force

applied.

Watch Video Solution

2. A car of mass 480 kg moving at a speed of

54 km per hour is stopped in 10 s. Calculate

the force applied by the brakes.

https://dl.doubtnut.com/l/_XcLOQhkYwkBX
https://dl.doubtnut.com/l/_TWih5mi9lOwp


Watch Video Solution

3. How the S.I. unit and C.G.S. unit of force are

related ?

Watch Video Solution

4. A ball of mass 10 g is moving with a velocity

of . On applying a constant force on

ball for 2.0 s, it acquires a velocity of .

Calculate the initial momentum of ball

50ms − 1

70ms − 1

https://dl.doubtnut.com/l/_TWih5mi9lOwp
https://dl.doubtnut.com/l/_Y9Mso6jKusZn
https://dl.doubtnut.com/l/_OcVDpx9EBFdR


Watch Video Solution

5. A ball of mass 10 g is moving with a velocity

of . On applying a constant force on

ball for 2.0 s, it acquires a velocity of .

Calculate the final momentum of ball

Watch Video Solution

50ms − 1

70ms − 1

6. A ball of mass 10 g is moving with a velocity

of . On applying a constant force on50ms − 1

https://dl.doubtnut.com/l/_OcVDpx9EBFdR
https://dl.doubtnut.com/l/_QKzTSHOhxIzw
https://dl.doubtnut.com/l/_faFlz7hFnUv0


ball for 2.0 s, it acquires a velocity of .

Calculate the rate of change of momentum

Watch Video Solution

70ms − 1

7. A ball of mass 10 g is moving with a velocity

of . On applying a constant force on

ball for 2.0 s, it acquires a velocity of .

Calculate the acceleration of ball

Watch Video Solution

50ms − 1

70ms − 1

https://dl.doubtnut.com/l/_faFlz7hFnUv0
https://dl.doubtnut.com/l/_2jiogqiCw7dq


8. A ball of mass 10 g is moving with a velocity

of . On applying a constant force on

ball for 2.0 s, it acquires a velocity of .

Calculate the magnitude of force applied.

Watch Video Solution

50ms − 1

70ms − 1

9. A cricket ball of mass 100 g moving with a

speed of  is brought to rest by a

player in 0.03 s. Find the change in momentum

of ball.

30ms − 1

https://dl.doubtnut.com/l/_KRhsCyVyv8kn
https://dl.doubtnut.com/l/_d77CyWOdC376


Watch Video Solution

10. A cricket ball of mass 100 g moving with a

speed of  is brought to rest by a

player in 0.03 s. Find the average force applied

by the player.

Watch Video Solution

30ms − 1

11. Two balls A and B of masses m and 2 m are

in motion with velocities 2v and v, respectively.

Compare: Their inertia.

https://dl.doubtnut.com/l/_d77CyWOdC376
https://dl.doubtnut.com/l/_3HG1xSYUNxdq
https://dl.doubtnut.com/l/_l2he5qD4Gcps


Watch Video Solution

12. Two balls A and B of masses m and 2 m are

in motion with velocities 2v and v, respectively.

Compare: Their momentum.

Watch Video Solution

13. Two balls A and B of masses m and 2 m are

in motion with velocities 2v and v, respectively.

https://dl.doubtnut.com/l/_l2he5qD4Gcps
https://dl.doubtnut.com/l/_LBY0QuSoPLr2
https://dl.doubtnut.com/l/_WaMdOE6zslV9


Compare: The force needed to stop them in

the same

Watch Video Solution

14. A force of 10 N acts on a body of mass 2 kg

for 3s , initially at rest. Calculate the velocity

acquired by the body

Watch Video Solution

https://dl.doubtnut.com/l/_WaMdOE6zslV9
https://dl.doubtnut.com/l/_lp8o3ezJ9mvH


15. A force of 10 N acts on a body of mass 2 kg

for 3s , initially at rest. Calculate change in

momentum of the body.

Watch Video Solution

16. A force acts for 10 s on a stationary body of

mass 100 kg, after which the force ceases to

act. The body moves through a distance of 100

m in the next 5 s. Calculate: The velocity

acquired by the body

https://dl.doubtnut.com/l/_ezDuOVgkomPF
https://dl.doubtnut.com/l/_NkjxlzOubfh1


Watch Video Solution

17. A force acts for 10 s on a stationary body of

mass 100 kg, after which the force ceases to

act. The body moves through a distance of 100

m in the next 5 s. Calculate: The acceleration

produced by the force

Watch Video Solution

18. A force acts for 10 s on a stationary body of

mass 100 kg, after which the force ceases to

https://dl.doubtnut.com/l/_NkjxlzOubfh1
https://dl.doubtnut.com/l/_9mOuhMuiQLUo
https://dl.doubtnut.com/l/_CwNJ3tUu7CrD


act. The body moves through a distance of 100

m in the next 5 s. Calculate: The magnitude of

the force.

Watch Video Solution

19. A car is moving with a uniform velocity

 . It is stopped in 2 s by applying a

force of 1500 N through its brakes. 

Calculate the following values: The change in

momentum of car.

Watch Video Solution

30ms − 1

https://dl.doubtnut.com/l/_CwNJ3tUu7CrD
https://dl.doubtnut.com/l/_szB6XpSgdLXe


20. A car is moving with a uniform velocity

 . It is stopped in 2 s by applying a

force of 1500 N through its brakes. 

Calculate the following values: The retardation

produced in car.

Watch Video Solution

30ms − 1

21. A car is moving with a uniform velocity

 . It is stopped in 2 s by applying a30ms − 1

https://dl.doubtnut.com/l/_szB6XpSgdLXe
https://dl.doubtnut.com/l/_5cbii51RgbFJ
https://dl.doubtnut.com/l/_nVIjJw9jka4L


force of 1500 N through its brakes. 

Calculate the following values: The mass of car.

Watch Video Solution

22. A bullet of mass 50 g moving with an initial

velocity  strikes a wooden block and

comes to rest after penetrating a distance 2

cm in it. Calculate : Initial momentum of the

bullet

Watch Video Solution

100m s − 1

https://dl.doubtnut.com/l/_nVIjJw9jka4L
https://dl.doubtnut.com/l/_fLduxoWotQSw
https://dl.doubtnut.com/l/_xApkh93UsQFb


23. A bullet of mass 50 g moving with an initial

velocity  strikes a wooden block and

comes to rest after penetrating a distance 2

cm in it. Calculate : Final momentum of the

bullet

Watch Video Solution

100m s − 1

24. A bullet of mass 50 g moving with an initial

velocity  strikes a wooden block and

comes to rest after penetrating a distance 2

100m s − 1

https://dl.doubtnut.com/l/_xApkh93UsQFb
https://dl.doubtnut.com/l/_flfyQR6Rl7Ne


cm in it. Calculate : Retardation caused by the

wooden block

Watch Video Solution

25. A bullet of mass 50 g moving with an initial

velocity  strikes a wooden block and

comes to rest after penetrating a distance 2

cm in it. Calculate : Resistive force exerted by

the wooden block.

Watch Video Solution

100m s − 1

https://dl.doubtnut.com/l/_flfyQR6Rl7Ne
https://dl.doubtnut.com/l/_owVTjDwioZdT
https://dl.doubtnut.com/l/_VL83yANkz7Q9


26. Use Newton.s second law of motion to

explain the following instances: 

You pull your hands back while catching a fast

moving cricket ball.

Watch Video Solution

27. Use Newton.s second law of motion to

explain the following instances: 

You prefer to land on sand instead of hard

floor while taking a high jump.

Watch Video Solution

https://dl.doubtnut.com/l/_VL83yANkz7Q9
https://dl.doubtnut.com/l/_bFOEIzSokju2


28. State that which is action and which is

reaction in the following cases: Firing a bullet

from a gun

Watch Video Solution

29. State that which is action and which is

reaction in the following cases: (b) Hammering

a nail

Watch Video Solution

https://dl.doubtnut.com/l/_bFOEIzSokju2
https://dl.doubtnut.com/l/_SRaKxuQNgeD8
https://dl.doubtnut.com/l/_ycEUhF9p2Vy3


30. State that which is action and which is

reaction in the following cases: A book lying

on a table

Watch Video Solution

31. State that which is action and which is

reaction in the following cases: A moving

rocket

Watch Video Solution

https://dl.doubtnut.com/l/_ycEUhF9p2Vy3
https://dl.doubtnut.com/l/_ak8PjdnIELhq
https://dl.doubtnut.com/l/_ZynSbaOsvpY1


32. State that which is action and which is

reaction in the following cases: A person

moving on the floor

Watch Video Solution

33. State that which is action and which is

reaction in the following cases: A moving train

colliding with a stationary train.

Watch Video Solution

https://dl.doubtnut.com/l/_ZynSbaOsvpY1
https://dl.doubtnut.com/l/_wd51uptwuZF7
https://dl.doubtnut.com/l/_jMg7vzADKtmd


Topic 3 2 Marks Questions

34. Explain how from Newton.s  law of

motion the qualitative idea of inertia and

force develops.

Watch Video Solution

1st

1. Define gravitational constant G.

Watch Video Solution

https://dl.doubtnut.com/l/_NfljIDSuzsll
https://dl.doubtnut.com/l/_Qd88L9y7rQIO
https://dl.doubtnut.com/l/_nIibHegC08Jo


2. The force of attraction between two bodies

at certain separation is 10 N. What will be the

force of attraction between them if the

separation between them is reduced to half?

Watch Video Solution

3. Mass of a body is 5 kg. What is its weight ?

Watch Video Solution

https://dl.doubtnut.com/l/_nIibHegC08Jo
https://dl.doubtnut.com/l/_kmzJxR2i01Bd


4. What is the force of attraction between two

masses each of 1 kg kept at a separation of 1

m?

Watch Video Solution

5. Calculate the weight of a body of mass 10 kg

in kgf . Take  .

Watch Video Solution

g = 9.8m s − 2

https://dl.doubtnut.com/l/_h5dgU5yb8hE6
https://dl.doubtnut.com/l/_nTEcVLqrIquF


6. Calculate the weight of a body of mass 10 kg

in newton . Take  .

Watch Video Solution

g = 9.8m s − 2

7. A body is projected vertically upward with an

initial velocity u. If acceleration due to gravity

is g, find the time for which it remains in air.

Watch Video Solution

https://dl.doubtnut.com/l/_KenZxzoNgcXk
https://dl.doubtnut.com/l/_sUvVTAtMQA52


8. An object falling freely from rest reaches

ground in 2 s. If acceleration due to gravity is

, then what will be the velocity of

object on reaching the ground?

Watch Video Solution

9.8m s − 2

9. The value of g at the centre of Earth is zero.

What will be the weight of a body of mass 10

kg at the centre of the Earth?

Watch Video Solution

https://dl.doubtnut.com/l/_OVfQWNqIzML2
https://dl.doubtnut.com/l/_G3zTlw0iPohq


Topic 3 3 Marks Questions

1. State Newton's law of gravitation.

Watch Video Solution

2. The weight of a body on Earth is 98 N, where

acceleration due to gravity is ? What

will be its weight on the Moon, where

acceleration due to gravity is  ?

Watch Video Solution

9.8m s − 2

1.6m s − 2

https://dl.doubtnut.com/l/_G3zTlw0iPohq
https://dl.doubtnut.com/l/_VoDKoFTHqtmt
https://dl.doubtnut.com/l/_IrAl9V5G5ClW


3. The weight of a body on Earth is 98 N, where

acceleration due to gravity is ? What

will be its weight on the Moon, where

acceleration due to gravity is  ?

Watch Video Solution

9.8m s − 2

1.6m s − 2

4. A man weighs 600 N on the Earth. What

would be his approximate weight on the Moon

https://dl.doubtnut.com/l/_IrAl9V5G5ClW
https://dl.doubtnut.com/l/_9JuP88pphArb
https://dl.doubtnut.com/l/_9XdSMgPUEf4b


if the value of acceleration due to gravity of

moon is  of that of the earth?

Watch Video Solution

1/6th

5. A ball is released from a height and it

reaches the ground in 3 s. If ,

find the value of the height from which the

ball was released.

Watch Video Solution

g = 9.8m s − 2

https://dl.doubtnut.com/l/_9XdSMgPUEf4b
https://dl.doubtnut.com/l/_B7QgCMe2O1VI


Topic 3 4 Marks Questions

6. A ball is released from a height and it

reaches the ground in 3 s. If ,

find the value of the velocity with which the

ball will strike the ground.

Watch Video Solution

g = 9.8m s − 2

7. Distinguish between mass and weight .

Watch Video Solution

https://dl.doubtnut.com/l/_pWoMXljnJ2W5
https://dl.doubtnut.com/l/_E17fkX5d642Z


1. A ball is thrown vertically upwards. It goes to

a height 20 m and then returns to the ground.

Taking acceleration due to gravity g to be

 ?, find the initial velocity of the ball

Watch Video Solution

10m s − 2

2. A ball is thrown vertically upwards. It goes

to a height 20 m and then returns to the

ground. Taking acceleration due to gravity g to

https://dl.doubtnut.com/l/_TvrhNazSDKfB
https://dl.doubtnut.com/l/_D78279BkMRRx


be  ?, find the final velocity of ball on

reaching the ground

Watch Video Solution

10m s − 2

3. A ball is thrown vertically upwards. It goes

to a height 20 m and then returns to the

ground. Taking acceleration due to gravity g to

be  ?, find the total time of journey of

ball.

Watch Video Solution

10m s − 2

https://dl.doubtnut.com/l/_D78279BkMRRx
https://dl.doubtnut.com/l/_fuDrTuCroavS
https://dl.doubtnut.com/l/_M8BlMHFdWER1


4. A ball is thrown vertically upwards. It

returns 6 s later. Calculate the greatest height

reached by the ball

Watch Video Solution

5. A ball is thrown vertically upwards. It returns

6 s later. Calculate the initial velocity of the

ball. (Take  )

Watch Video Solution

g = 10m s − 2

https://dl.doubtnut.com/l/_M8BlMHFdWER1
https://dl.doubtnut.com/l/_II27fcb9kCeA
https://dl.doubtnut.com/l/_ZkzRkNpJtvL8


6. How long will a stone take to fall to the

ground from the top of a building 80 m high

and What will be the velocity of the stone on

reaching the ground? (Take )

Watch Video Solution

g = 10m s − 2

7. A pebble is dropped freely in a well from its

top. It takes 20 s for the pebble to reach the

water surface in the well. Taking 

and speed of sound = . Find the

depth of water surface

g = 10 m s − 2

330m s − 1

https://dl.doubtnut.com/l/_ZkzRkNpJtvL8
https://dl.doubtnut.com/l/_fFJdgjAIBoUz


Watch Video Solution

8. A pebble is dropped freely in a well from its

top. It takes 20 s for the pebble to reach the

water surface in the well. Taking 

and speed of sound = . Find the time

when sound is heard after the pebble is

dropped.

Watch Video Solution

g = 10 m s − 2

330m s − 1

https://dl.doubtnut.com/l/_fFJdgjAIBoUz
https://dl.doubtnut.com/l/_p2ZGD1ZXcLFC


9. A ball is thrown vertically upwards from the

top of a tower with an initial velocity of

. The ball reaches the ground after

5 s. Calculate the height of the tower . Take

 ?

Watch Video Solution

19.6m s − 1

g = 9.8ms − 2

10. A ball is thrown vertically upwards from the

top of a tower with an initial velocity of

. The ball reaches the ground after19.6m s − 1

https://dl.doubtnut.com/l/_pfcmxy2I7Oe1
https://dl.doubtnut.com/l/_4lbUeBPL0fRR


Examples

5 s. Calculate the velocity of the ball on

reaching the ground.Take  ?

Watch Video Solution

g = 9.8ms − 2

1. How much force is required to produce an

acceleration of  in a body of mass 0.8

kg ?

Watch Video Solution

2ms − 2

https://dl.doubtnut.com/l/_4lbUeBPL0fRR
https://dl.doubtnut.com/l/_Uy9R3NGLETaj
https://dl.doubtnut.com/l/_xngCsG7GttGT


2. A force acts for 0.1 s on a body of mass 1.2 kg

initially at rest. The force then ceases to act

and the body moves thorugh 2 m in the next

1.0 s . Find the magnitude of force.

Watch Video Solution

3. A ball of mass 10 g is moving with a velocity

of . On applying a constant force on

ball for 2.0 s, it acquires a velocity of .

Calculate the initial momentum of ball

50ms − 1

70ms − 1

https://dl.doubtnut.com/l/_xngCsG7GttGT
https://dl.doubtnut.com/l/_uFJoDc5hJ3JT


Watch Video Solution

4. A ball of mass 10 g is moving with a velocity

of . On applying a constant force on

ball for 2.0 s, it acquires a velocity of .

Calculate the final momentum of ball

Watch Video Solution

50ms − 1

70ms − 1

5. A ball of mass 10 g is moving with a velocity

of . On applying a constant force on50ms − 1

https://dl.doubtnut.com/l/_uFJoDc5hJ3JT
https://dl.doubtnut.com/l/_UMRxmjZwZHIr
https://dl.doubtnut.com/l/_bhzKqKBQuAJV


ball for 2.0 s, it acquires a velocity of .

Calculate the rate of change of momentum

Watch Video Solution

70ms − 1

6. A ball of mass 10 g is moving with a velocity

of . On applying a constant force on

ball for 2.0 s, it acquires a velocity of .

Calculate the acceleration of ball

Watch Video Solution

50ms − 1

70ms − 1

https://dl.doubtnut.com/l/_bhzKqKBQuAJV
https://dl.doubtnut.com/l/_NcFAzXBpF8yT


7. A ball of mass 10 g is moving with a velocity

of . On applying a constant force on

ball for 2.0 s, it acquires a velocity of .

Calculate the magnitude of force applied.

Watch Video Solution

50ms − 1

70ms − 1

8. A cricket ball of mass 100 g moving with a

speed of  is brought to rest by a

player in 0.03 s. Find the change in momentum

of ball.

30ms − 1

https://dl.doubtnut.com/l/_oHOoSP4tI8Kj
https://dl.doubtnut.com/l/_9QJbDUhHcRyy


Watch Video Solution

9. A cricket ball of mass 100 g moving with a

speed of  is brought to rest by a

player in 0.03 s. Find the average force applied

by the player.

Watch Video Solution

30ms − 1

10. Calculate the gravitational force of

attraction between two bodies of masses 40

https://dl.doubtnut.com/l/_9QJbDUhHcRyy
https://dl.doubtnut.com/l/_rq3WO2EaiXKd
https://dl.doubtnut.com/l/_cPgM2rxmz3z1


kg and 80 kg separated by a distance 15 m.

Take 

Watch Video Solution

G = 6.7 × 10− 11Nm2kg − 2

11. Taking the mass of earth equal to 

kg and its radius equal to  m,

calculate the value of acceleration due to

gravity at a height of 2000 km above the earth

surface. Take G = 

Watch Video Solution

6 × 1024

6.4 × 106

6.7 × 10− 11Nm2kg − 2

https://dl.doubtnut.com/l/_cPgM2rxmz3z1
https://dl.doubtnut.com/l/_UeMPvbr2ljai
https://dl.doubtnut.com/l/_cjNZHqp4agVB


12. A body of mass 10 kg is taken from the

earth to the moon. If the value of g on earth is

9.8 m  and on moon is 1.6 m , find the

weight of the body on earth.

Watch Video Solution

s − 2 s − 2

13. A body of mass 10 kg is taken from the

earth to the moon. If the value of g on earth is

9.8 m  and on moon is 1.6 m , find the

mass and weight of the body on moon.

Watch Video Solution

s − 2 s − 2

https://dl.doubtnut.com/l/_cjNZHqp4agVB
https://dl.doubtnut.com/l/_X1LF0hFXKxBg


14. A stone at rest is dropped from a height

and falls freely under gravity. Calculate the

distance covered by it in the first two seconds.

(g = 9.8 m )

Watch Video Solution

s − 2

15. A stone is dropped freely in a river from a

bridge. It takes 5 s to touch the water surface

https://dl.doubtnut.com/l/_X1LF0hFXKxBg
https://dl.doubtnut.com/l/_IHZ7O8LDOzEg
https://dl.doubtnut.com/l/_SYPkhqjkf0UA


in the river. Calculate : the height of the bridge

from the water level .

Watch Video Solution

16. A stone is dropped freely in a river from a

bridge. It takes 5 s to touch the water surface

in the river. Calculate :the distance covered by

the stone in the first 2 s (g = 9.8 m ).

Watch Video Solution

s − 2

https://dl.doubtnut.com/l/_SYPkhqjkf0UA
https://dl.doubtnut.com/l/_n5vXSMqJ3EWr


17. A body is dropped freely under gravity from

the top of a tower of height 78.4 m. Calculate :

(i) the time to reach the ground .

Take g = 9.8 m .

Watch Video Solution

s − 2

18. A body is dropped freely under gravity from

the top of a tower of height 78.4 m. Calculate :

the velocity with which it strikes the ground. 

Take g = 9.8 m .s − 2

https://dl.doubtnut.com/l/_mWuFYKbkv19Z
https://dl.doubtnut.com/l/_vlvSs6a2Bp1v


Watch Video Solution

19. A ball is thrown vertically upwards. It goes

to a height 19.6 m and then comes back to the

ground, Find the initial velocity of the ball .

Take g = 9.8 

Watch Video Solution

ms − 2

20. A ball is thrown vertically upwards. It goes

to a height 19.6 m and then comes back to the

https://dl.doubtnut.com/l/_vlvSs6a2Bp1v
https://dl.doubtnut.com/l/_klqsxRCeppti
https://dl.doubtnut.com/l/_I6EgzxvZKalR


ground, Find the initial velocity of the ball .

Take g = 9.8 

Watch Video Solution

ms − 2

21. A ball is thrown vertically upwards. It goes

to a height 19.6 m and then comes back to the

ground, Find the final velocity of the ball when

it strikes the ground. 

Take g = 9.8 

Watch Video Solution

ms − 2

https://dl.doubtnut.com/l/_I6EgzxvZKalR
https://dl.doubtnut.com/l/_hVu214KB1D5d
https://dl.doubtnut.com/l/_EnAQY7snR4mc


22. A ball is thrown vertically upwards from the

top of a building of height 24.5 m with an

initial velocity 19.6 m . Taking g = 9.8 ms,

calculate : the velocity with which it will strike

the ground .

Watch Video Solution

s − 1

23. A ball is thrown vertically upwards from the

top of a building of height 24.5 m with an

initial velocity 19.6 m . Taking g = 9.8 ms,s − 1

https://dl.doubtnut.com/l/_EnAQY7snR4mc
https://dl.doubtnut.com/l/_7EmBcAVU97Th


calculate : the velocity with which it will strike

the ground .

Watch Video Solution

24. A ball is thrown vertically upwards from the

top of a building of height 24.5 m with an

initial velocity 19.6 m . Taking g = 9.8 ms,

calculate : the total time of journey.

Watch Video Solution

s − 1

https://dl.doubtnut.com/l/_7EmBcAVU97Th
https://dl.doubtnut.com/l/_Ha9WANyiGMKJ


Exercise 3 A

1. Explain giving two examples Contact forces .

Watch Video Solution

2. What are non-contact forces ?

Watch Video Solution

https://dl.doubtnut.com/l/_SCqMFRmfO1XB
https://dl.doubtnut.com/l/_21DSsOA8BblG


3. Classify the following amongst contact and

non contact forces : 

frictional force

Watch Video Solution

4. Classify the following amongst contact and

non contact forces : 

normal reaction force.

Watch Video Solution

https://dl.doubtnut.com/l/_OZWWXiky4AKV
https://dl.doubtnut.com/l/_hAs2EIfzb0ai
https://dl.doubtnut.com/l/_l6BUwcQ8WFY9


5. Classify the following amongst contact and

non contact forces : 

force of tension in a string

Watch Video Solution

6. Classify the following amongst contact and

non contact forces : 

gravitational force.

Watch Video Solution

https://dl.doubtnut.com/l/_l6BUwcQ8WFY9
https://dl.doubtnut.com/l/_6PU4OxTTO142
https://dl.doubtnut.com/l/_oxUPwWabxZp4


7. Classify the following amongst contact and

non contact forces : 

electrostatic force

Watch Video Solution

8. Identify the non-contact forces: 

Gravitational force, Tension force, Friction

force, Magnetic force, Air resistance force,

Electrostatic force.

Watch Video Solution

https://dl.doubtnut.com/l/_oxUPwWabxZp4
https://dl.doubtnut.com/l/_rzdW114LHOF4
https://dl.doubtnut.com/l/_0j6uz6djG4VG


9. Give one example where :the force is of

contact .

Watch Video Solution

10. Give one example where : force is at a

distance .

Watch Video Solution

https://dl.doubtnut.com/l/_0j6uz6djG4VG
https://dl.doubtnut.com/l/_7jAsdl8TUyPD


11. A ball is hanging by string from the ceiling

of the roof. Draw a neat labelled diagram

showing the forces acting on the ball and the

string.

Watch Video Solution

12. A spring is compressed against a rigid wall.

Draw a neat and labeled diagram showing the

forces acting on the spring.

Watch Video Solution

https://dl.doubtnut.com/l/_yXMhH3WdLgix
https://dl.doubtnut.com/l/_rOAHTj10bSv7


13. A wooden block is placed on a table top.

Name the forces acting on the block and draw

a neat and labelled diagram to show the point

of application and direction of these forces.

Watch Video Solution

14. State one factor on which the magnitude

of a non-contact force depends. How does it

depend on the factor stated by you?

Watch Video Solution

https://dl.doubtnut.com/l/_rOAHTj10bSv7
https://dl.doubtnut.com/l/_Ppqm8pQNpik7
https://dl.doubtnut.com/l/_Kp4RDuZXDsgF


15. The separation between two masses is

reduced to half. How is the magnitude of

gravitational force between them affected ?

Watch Video Solution

16. State the effects of a force applied on (i) a

non rigid, and (ii) a rigid body. How does the

effect of the force differ in the two cases ?

Watch Video Solution

https://dl.doubtnut.com/l/_Kp4RDuZXDsgF
https://dl.doubtnut.com/l/_IRRZ5DlxwvS5
https://dl.doubtnut.com/l/_Lo7mA3aAjYYo


17. Give one example of the following case

where a force : stops a moving body

Watch Video Solution

18. Give one example of the following case

where a force : moves a stationary body.

Watch Video Solution

https://dl.doubtnut.com/l/_Lo7mA3aAjYYo
https://dl.doubtnut.com/l/_MJ9aBNLiICuN
https://dl.doubtnut.com/l/_P6MeOftLlU00


Exercise 3 A Multiple Choice Type

19. Give one example of the following case

where a force : changes the shape of a body

Watch Video Solution

1. Which of the following is a contact force :

A. electrostatic force

B. gravitational force

https://dl.doubtnut.com/l/_TksCQn1UDCMF
https://dl.doubtnut.com/l/_dDX8tZNEMiTu


C. frictional force

D. magnetic force

Answer: C

Watch Video Solution

2. Identify the non-contact forces: 

Gravitational force, Tension force, Friction

force, Magnetic force, Air resistance force,

Electrostatic force.

https://dl.doubtnut.com/l/_dDX8tZNEMiTu
https://dl.doubtnut.com/l/_M1vUirPSlUYi


Exercise 3 B

A. force of reaction

B. force due to gravity

C. tension in string

D. force of friction

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_M1vUirPSlUYi


1. Name the physical quantity which causes

motion in a body.

Watch Video Solution

2. Is force needed to keep a moving body in

motion ?

Watch Video Solution

https://dl.doubtnut.com/l/_TGAKKLPSr83e
https://dl.doubtnut.com/l/_E7fS1p5AKfUz


3. A ball moving on a table top eventually

stops. Explain the reason.

Watch Video Solution

4. A ball is moving on a perfectly smooth

horizontal surface. If no force is applied on it,

will its speed decrease, increase or remain

unchanged ?

Watch Video Solution

https://dl.doubtnut.com/l/_YRUvv6UOPWmF
https://dl.doubtnut.com/l/_VFJZbfMhAASO
https://dl.doubtnut.com/l/_byFr62gB3x36


5. What is Galileo's law of inertia ?

Watch Video Solution

6. State and explain the law of inertia (or

Newton's first law of motion).

Watch Video Solution

7. State and explain the law of inertia (or

Newton's first law of motion).

https://dl.doubtnut.com/l/_byFr62gB3x36
https://dl.doubtnut.com/l/_jKV7pcsRpdKR
https://dl.doubtnut.com/l/_7bLvc8gyYg39


Watch Video Solution

8. What is meant by the term inertia?

Watch Video Solution

9. Give qualitative definition of force on the

basis of Newton's first law of motion.

Watch Video Solution

https://dl.doubtnut.com/l/_7bLvc8gyYg39
https://dl.doubtnut.com/l/_cjwn1BpfStjG
https://dl.doubtnut.com/l/_6fGwLGWJsCcR


10. Name the factor on which inertia of a body

depends and state how it depends on the

factor stated by you.

Watch Video Solution

11. Give two examples to show that greater the

mass, greater is the inertia of the body.

Watch Video Solution

https://dl.doubtnut.com/l/_96kgQztXCnLY
https://dl.doubtnut.com/l/_8FiVw5xwJA5b


12. More the mass, more difficult it is to move

the body from rest'. Explain this statement by

giving an example.

Watch Video Solution

13. Name the two kinds of inertia.

Watch Video Solution

https://dl.doubtnut.com/l/_x1Z1eKYAOdrI
https://dl.doubtnut.com/l/_s93UsfHoJwUI


14. Give one example of the following: 

inertia of rest .

Watch Video Solution

15. Give one example of the following: 

inertia of motion.

Watch Video Solution

https://dl.doubtnut.com/l/_pCf0oF846uh6
https://dl.doubtnut.com/l/_Kn9feI2OmzuJ


16. Two equal and opposite forces act on a

stationary body. Will the body move ? Give

reason to your answer.

Watch Video Solution

17. Two equal and opposite forces act on a

moving object. How is its motion affected ?

Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_5uZ4Liu72Tuw
https://dl.doubtnut.com/l/_8AsAblyv86mg
https://dl.doubtnut.com/l/_PMPdhTzwFR2o


18. An aeroplane is moving uniformly at a

constant eight under the action of two forces

(i) upward force (lift) and (ii) downward force

(weight). What is the net force on the

aeroplane.

Watch Video Solution

19. Why does a person tend to fall when he

jumps out from a moving train and tries to

stop immediately?

Watch Video Solution

https://dl.doubtnut.com/l/_PMPdhTzwFR2o
https://dl.doubtnut.com/l/_aYmlHPf2fl9b


20. Why does a ball thrown vertically upwards

in a moving train, come back to the thrower's

hand ?

Watch Video Solution

21. Explain the following 

When a train suddenly moves forward, the

passenger standing in the compartment tends

to fall backwards.

https://dl.doubtnut.com/l/_aYmlHPf2fl9b
https://dl.doubtnut.com/l/_dYJdvIyMLwHj
https://dl.doubtnut.com/l/_rF9zXgpkk2nL


Watch Video Solution

22. Explain the following 

When a corridor train suddenly starts, the

sliding doors of some compartments may

open.

Watch Video Solution

23. Explain the following 

People often shake branches of a tree for

getting down its fruits.

https://dl.doubtnut.com/l/_rF9zXgpkk2nL
https://dl.doubtnut.com/l/_exMPryqjuhrj
https://dl.doubtnut.com/l/_MywUsjaSVXUu


Watch Video Solution

24. Explain the following 

After alighting from a moving bus, one has to

run for some distance in the direction of bus

in order to avoid falling.

Watch Video Solution

25. Explain the following 

Dust particles are removed from a carpet by

https://dl.doubtnut.com/l/_MywUsjaSVXUu
https://dl.doubtnut.com/l/_7oqRylcymzjj
https://dl.doubtnut.com/l/_PcIITv2ytEgw


Exercise 3 B Multiple Choice Type

beating it.

Watch Video Solution

26. Explain the following 

It is advantageous to run before taking a long

jump.

Watch Video Solution

https://dl.doubtnut.com/l/_PcIITv2ytEgw
https://dl.doubtnut.com/l/_xprr8WNJgz8q


1. The property of inertia is more in :

A. a car

B. a truck

C. a horse cart

D. a toy car.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HIqYqkzzBLZQ


2. A tennis ball and a cricket ball, both are

stationary. To start motion in them :

A. a less force is required for the cricket

ball than for the tennis ball

B. a less force is required for the tennis ball

than for the cricket ball

C. same force is required for both the balls

D. nothing can be said.

Answer: B

https://dl.doubtnut.com/l/_oeFgkzaPMMso


Watch Video Solution

3. A force is needed to:

A. change the state of motion or state of

rest of the body

B. keep the body in motion

C. keep the body stationary

D. keep the velocity of body constant.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_oeFgkzaPMMso
https://dl.doubtnut.com/l/_4qIdGBcoSjgh


Exercise 3 C

1. Name the two factors on which the force

needed to stop a moving body in a given time,

depends.

Watch Video Solution

2. Define linear momentum and state its S.I.

unit.

https://dl.doubtnut.com/l/_4qIdGBcoSjgh
https://dl.doubtnut.com/l/_22ezsJRVKXRa
https://dl.doubtnut.com/l/_VpkHVSjEhvY6


Watch Video Solution

3. A body of mass m moving with a velocity v is

acted upon by a force. Write expression for

change in momentum of the following case: 

when 

Watch Video Solution

v < < c

4. A body of mass m moving with a velocity v is

acted upon by a force. Write expression for

https://dl.doubtnut.com/l/_VpkHVSjEhvY6
https://dl.doubtnut.com/l/_z1F1Cp3mE4iD
https://dl.doubtnut.com/l/_C2opsrjaY0lw


change in momentum of the following case: 

when 

Watch Video Solution

v → c

5. A body of mass m moving with a velocity v is

acted upon by a force. Write expression for

change in momentum of the following case: 

when 

Watch Video Solution

v < < c

https://dl.doubtnut.com/l/_C2opsrjaY0lw
https://dl.doubtnut.com/l/_DAI6uQos4CGZ


6. Show that the rate of change of momentum

= mass  acceleration. Under what condition

does this relation hold ?

Watch Video Solution

×

7. Two bodies A and B of same mass are

moving with velocities v and 2v, respectively.

Compare their inertia

Watch Video Solution

https://dl.doubtnut.com/l/_LBuuugWchFQA
https://dl.doubtnut.com/l/_mAOaI6e4fR1O
https://dl.doubtnut.com/l/_fKxkAKJqaYVm


8. Two balls A and B of masses m and 2 m are

in motion with velocities 2v and v, respectively.

Compare: Their momentum.

Watch Video Solution

9. Two balls A and B of masses m and 2 m are

in motion with velocities 2v and v, respectively.

Compare: Their inertia.

Watch Video Solution

https://dl.doubtnut.com/l/_fKxkAKJqaYVm
https://dl.doubtnut.com/l/_apBwPYiuHQtb
https://dl.doubtnut.com/l/_UId7BA4Ll2wz


10. Two balls A and B of masses m and 2 m are

in motion with velocities 2v and v, respectively.

Compare: Their momentum.

Watch Video Solution

11. Two balls A and B of masses m and 2 m are

in motion with velocities 2v and v, respectively.

Compare: The force needed to stop them in

the same

Watch Video Solution

https://dl.doubtnut.com/l/_UId7BA4Ll2wz
https://dl.doubtnut.com/l/_eVBL9CRnMePy
https://dl.doubtnut.com/l/_vm29AbgkyrPH


12. State Newton.s second law of motion.

Watch Video Solution

13. How does Newton's second law of motion

differ from first law of motion ?

Watch Video Solution

14. Write the mathematical form of Newton.s

second law of motion. State the conditions if

https://dl.doubtnut.com/l/_vm29AbgkyrPH
https://dl.doubtnut.com/l/_yHLM8uZk6aLA
https://dl.doubtnut.com/l/_IPmJ4GI5yxZK


any.

Watch Video Solution

15. State Newton's second law of motion.

Under what condition does it take the form F =

ma ?

Watch Video Solution

16. How can Newton.s first law of motion be

obtained from the second law of motion?

https://dl.doubtnut.com/l/_IPmJ4GI5yxZK
https://dl.doubtnut.com/l/_gklJwvdiHrsF
https://dl.doubtnut.com/l/_N2BISg6h9kHs


Watch Video Solution

17. Draw graphs to show the dependence of

acceleration on force for a constant mass.

Watch Video Solution

18. Draw graphs to show the dependence of

force on mass for a constant acceleration .

Watch Video Solution

https://dl.doubtnut.com/l/_N2BISg6h9kHs
https://dl.doubtnut.com/l/_NrKL3ub1sHLb
https://dl.doubtnut.com/l/_TnNc3xMZQYOi
https://dl.doubtnut.com/l/_FCFnQug5Lxvl


19. How does the acceleration produced by a

given force depend on mass of the body ?

Draw a graph to show it.

Watch Video Solution

20. Name the S.I. unit of force and define it.

Watch Video Solution

https://dl.doubtnut.com/l/_FCFnQug5Lxvl
https://dl.doubtnut.com/l/_Aq9pzIdkTvx0


21. What is the C.G.S. unit of force ? How is it

defined?

Watch Video Solution

22. State the S.I. and C.G.S. units of density.

How are they related ?

Watch Video Solution

https://dl.doubtnut.com/l/_HCcQimsk0Za7
https://dl.doubtnut.com/l/_tqxQ40502xtN


23. Why does a glass vessel break when it falls

on a hard floor, but it does not break when it

falls on a carpet ?

Watch Video Solution

24. Use Newton.s second law of motion to

explain the following instances: 

You pull your hands back while catching a fast

moving cricket ball.

Watch Video Solution

https://dl.doubtnut.com/l/_meNp5HdEkafB
https://dl.doubtnut.com/l/_JNPDRqbuikd5


Exercise 3 C Multiple Choice Type

25. Use Newton.s second law of motion to

explain the following instances: 

You prefer to land on sand instead of hard

floor while taking a high jump.

Watch Video Solution

1. The linear momentum of a body of mass m

moving with velocity v is :

https://dl.doubtnut.com/l/_JNPDRqbuikd5
https://dl.doubtnut.com/l/_dGq3FywkIpGf
https://dl.doubtnut.com/l/_RldQUbdFJr7I


A. v/m

B. m/v

C. mv

D. 1/mv

Answer: C

Watch Video Solution

2. The unit of linear momentum is :

A. N s

https://dl.doubtnut.com/l/_RldQUbdFJr7I
https://dl.doubtnut.com/l/_vkiggnnunKAL


B. 

C. 

D. 

Answer: A

Watch Video Solution

kgms − 2

Ns − 1

kg2ms − 1

3. The correct form of Newton's second law is :

A. 

B. 

F =
Δp

Δt

F = m
Δv

Δt

https://dl.doubtnut.com/l/_vkiggnnunKAL
https://dl.doubtnut.com/l/_XZoLWNvbDNZa


C. 

D. 

Answer: A

Watch Video Solution

F = v
Δm

Δt

F = mv

4. The acceleration produced in a body by a

force of given magnitude depends on

A. size of the body

B. shape of the body

https://dl.doubtnut.com/l/_XZoLWNvbDNZa
https://dl.doubtnut.com/l/_OjuUiry0RxYA


Exercise 3 C Numericals

C. mass of the body

D. none of these.

Answer: C

Watch Video Solution

1. A body of mass 5 kg is moving with velocity 2

m . Calculate its linear momentum.

Watch Video Solution

s − 1

https://dl.doubtnut.com/l/_OjuUiry0RxYA
https://dl.doubtnut.com/l/_lKUkYTUc4ON5


2. The linear momentum of a ball of mass 50 g

is 0.5 kg m . Find its velocity.

Watch Video Solution

s − 1

3. A force of 15 N acts on a body of mass 2 kg.

Calculate the acceleration produced.

Watch Video Solution

https://dl.doubtnut.com/l/_lKUkYTUc4ON5
https://dl.doubtnut.com/l/_FZPM1JolkWMX
https://dl.doubtnut.com/l/_hlpH6FqHb5a1


4. A force of 10 N acts on a body of mass 5 kg.

Find the acceleration produced.

Watch Video Solution

5. Calculate the magnitude of force which

when applied on a body of mass 0.5 kg

produces an acceleration of 5 m

Watch Video Solution

s − 2

https://dl.doubtnut.com/l/_ujIvXOHXEvuG
https://dl.doubtnut.com/l/_nCHwqDiUfX0R


6. A force of 10 N acts on a body of mass 2 kg

for 3s , initially at rest. Calculate the velocity

acquired by the body

Watch Video Solution

7. A force of 10 N acts on a body of mass 2 kg

for 3s , initially at rest. Calculate change in

momentum of the body.

Watch Video Solution

https://dl.doubtnut.com/l/_B9f0gybWzgSn
https://dl.doubtnut.com/l/_BZPs96fT4E25
https://dl.doubtnut.com/l/_FEhyuVCxO51V


8. A force acts for 10 s on a stationary body of

mass 100 kg, after which the force ceases to

act. The body moves through a distance of 100

m in the next 5 s. Calculate: The velocity

acquired by the body

Watch Video Solution

9. A force acts for 10 s on a stationary body of

mass 100 kg, after which the force ceases to

act. The body moves through a distance of 100

https://dl.doubtnut.com/l/_FEhyuVCxO51V
https://dl.doubtnut.com/l/_jDKSfLVTvNV7


m in the next 5 s. Calculate: The acceleration

produced by the force

Watch Video Solution

10. A force acts for 10 s on a stationary body of

mass 100 kg, after which the force ceases to

act. The body moves through a distance of 100

m in the next 5 s. Calculate: The magnitude of

the force.

Watch Video Solution

https://dl.doubtnut.com/l/_jDKSfLVTvNV7
https://dl.doubtnut.com/l/_Sqlw7MLZQdlk
https://dl.doubtnut.com/l/_xnh7xYMdjCEi


11. Fig. shows the velocity-time graph of a

particle of mass 100 g moving in a straight

line. Calculate the force acting on the particle. 

 


(Hint : Acceleration = slope of v-t graph)

Watch Video Solution

https://dl.doubtnut.com/l/_xnh7xYMdjCEi


12. A force causes an acceleration of 10 m 

in a body of mass 500 g. What acceleration will

be caused by the same force in a body of mass

5 kg?

Watch Video Solution

s − 2

13. A cricket ball of mass 150 g moving at a

speed of 25 m  is brought to rest by a

player in 0.03 s. Find the average force applied

by the player.

s − 1

https://dl.doubtnut.com/l/_ZOpHu3lhE8Yv
https://dl.doubtnut.com/l/_539sGxgBD1Wl


Watch Video Solution

14. A force acts for 0.1 s on a body of mass 2 kg

initially at rest. The force is then withdrawn

and the body moves with a velocity of 2 m/s.

Find the magnitude of force.

Watch Video Solution

15. A body of mass 500 g, initially at rest, is

acted upon by a force which causes it to move

https://dl.doubtnut.com/l/_539sGxgBD1Wl
https://dl.doubtnut.com/l/_aNEw2BNIj4bc
https://dl.doubtnut.com/l/_EhoEo4jDtm2T


a distance of 4 m in 2 s, Calculate the force

applied.

Watch Video Solution

16. A car of mass 480 kg moving at a speed of

54 km per hour is stopped in 10 s. Calculate

the force applied by the brakes.

Watch Video Solution

https://dl.doubtnut.com/l/_EhoEo4jDtm2T
https://dl.doubtnut.com/l/_jFW6pRdPNtMR


17. A car is moving with a uniform velocity

 . It is stopped in 2 s by applying a

force of 1500 N through its brakes. 

Calculate the following values: The change in

momentum of car.

Watch Video Solution

30ms − 1

18. A car is moving with a uniform velocity

 . It is stopped in 2 s by applying a

force of 1500 N through its brakes. 

30ms − 1

https://dl.doubtnut.com/l/_MSFQq1zjVAuU
https://dl.doubtnut.com/l/_4gWOxYABEYqB


Calculate the following values: The retardation

produced in car.

Watch Video Solution

19. A car is moving with a uniform velocity

 . It is stopped in 2 s by applying a

force of 1500 N through its brakes. 

Calculate the following values: The mass of car.

Watch Video Solution

30ms − 1

https://dl.doubtnut.com/l/_4gWOxYABEYqB
https://dl.doubtnut.com/l/_ZgtLrSSUiaOz


20. A bullet of mass 50 g moving with an initial

velocity  strikes a wooden block and

comes to rest after penetrating a distance 2

cm in it. Calculate : Initial momentum of the

bullet

Watch Video Solution

100m s − 1

21. A bullet of mass 50 g moving with an initial

velocity  strikes a wooden block and

comes to rest after penetrating a distance 2

100m s − 1

https://dl.doubtnut.com/l/_X4MCzvv5guE2
https://dl.doubtnut.com/l/_EDLgtmKyUkTX


cm in it. Calculate : Final momentum of the

bullet

Watch Video Solution

22. A bullet of mass 50 g moving with an initial

velocity  strikes a wooden block and

comes to rest after penetrating a distance 2

cm in it. Calculate : Retardation caused by the

wooden block

Watch Video Solution

100m s − 1

https://dl.doubtnut.com/l/_EDLgtmKyUkTX
https://dl.doubtnut.com/l/_dgRgTDAGvo7A
https://dl.doubtnut.com/l/_GdFeFbRkGmeD


Exercise 3 D

23. A bullet of mass 50 g moving with an initial

velocity  strikes a wooden block and

comes to rest after penetrating a distance 2

cm in it. Calculate : Resistive force exerted by

the wooden block.

Watch Video Solution

100m s − 1

1. State the usefulness of Newton's third law of

motion.

https://dl.doubtnut.com/l/_GdFeFbRkGmeD
https://dl.doubtnut.com/l/_uvfLpkJ7wn3f


Watch Video Solution

2. State that which is action and which is

reaction in the following cases: Firing a bullet

from a gun

Watch Video Solution

3. State that which is action and which is

reaction in the following cases: (b) Hammering

a nail

https://dl.doubtnut.com/l/_uvfLpkJ7wn3f
https://dl.doubtnut.com/l/_hyqtoP4SozSp
https://dl.doubtnut.com/l/_NtvAJWOcqpMd


Watch Video Solution

4. State that which is action and which is

reaction in the following cases: A book lying

on a table

Watch Video Solution

5. State that which is action and which is

reaction in the following cases: A moving

rocket

Watch Video Solution

https://dl.doubtnut.com/l/_NtvAJWOcqpMd
https://dl.doubtnut.com/l/_1SvNxOmX4IIZ
https://dl.doubtnut.com/l/_PgPVtDJB7F9U


6. State that which is action and which is

reaction in the following cases: A person

moving on the floor

Watch Video Solution

7. State that which is action and which is

reaction in the following cases: A moving train

colliding with a stationary train.

Watch Video Solution

https://dl.doubtnut.com/l/_PgPVtDJB7F9U
https://dl.doubtnut.com/l/_KyUI77h5PM2a
https://dl.doubtnut.com/l/_AOQUrFLDcPp8


8. Explain the motion of a rocket with the help

of Newton's third law.

Watch Video Solution

9. When a shot is fired from a gun, the gun

gets recoiled. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_AOQUrFLDcPp8
https://dl.doubtnut.com/l/_kJSdf5Pt4IWs
https://dl.doubtnut.com/l/_QhOXagonRP8p


10. When you step ashore from a stationary

boat, it tends to leave the shore. Explain.

Watch Video Solution

11. When two spring balances joined at their

free ends, are pulled apart, both show the

same reading. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_pLMQKqm8VqsW
https://dl.doubtnut.com/l/_YTMoZtpGDN5v


12. To move a boat ahead in water, the

boatman has to push the water backwards by

his oar. Explain.

Watch Video Solution

13. A person pushing a wall hard is liable to fall

back. Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_33wjMggIXrB0
https://dl.doubtnut.com/l/_30WIzhaaYFPF


14. The action and reaction both act

simultaneously.' Is this statement true ?

Watch Video Solution

15. The action and reaction are equal in

magnitude'. Is this statement true ?

Watch Video Solution

https://dl.doubtnut.com/l/_7OSGpQw2cdBN
https://dl.doubtnut.com/l/_VR4lHm3Kbc7l


Exercise 3 D Mutliple Choice Type

16. A light ball falling on ground, after striking

the ground rises upwards. Explain the reason.

Watch Video Solution

17. Comment on the statement 'the sum of

action and reaction on a body is zero'.

Watch Video Solution

https://dl.doubtnut.com/l/_IE4TjA4cYkSn
https://dl.doubtnut.com/l/_ljT0ntk16RfT
https://dl.doubtnut.com/l/_FmyyIZ969my0


1. Newton's third law :

A. defines the force qualitatively

B. defines the force quantitatively

C. explains the way a force acts on a body

D. gives the direction of force.

Answer: C

Watch Video Solution

2. Action and reaction act on the :

https://dl.doubtnut.com/l/_FmyyIZ969my0
https://dl.doubtnut.com/l/_oKYwjBE1X5e2


Exercise 3 D Numerical

A. same body in opposite directions

B. different bodies in opposite directions

C. different bodies, but in same direction

D. same body in same direction.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_oKYwjBE1X5e2


1. A boy pushes a wall with a force of 10 N

towards east. What force is exerted by the wall

on the boy ?

Watch Video Solution

2. In Fig. a block of weight 15 N is hanging

from a rigid support by a string. What force is

exerted by 

https://dl.doubtnut.com/l/_OIn3cil8Kp8W
https://dl.doubtnut.com/l/_TuXRUpxA8Me3


 


block on the string 

Name them and show them in the diagram .

Watch Video Solution

3. In Fig. a block of weight 15 N is hanging

from a rigid support by a string. What force is

https://dl.doubtnut.com/l/_TuXRUpxA8Me3
https://dl.doubtnut.com/l/_8Cf01RA4dndY


Exercise 3 E

exerted by 

 


string on the block. 

Name them and show them in the diagram .

Watch Video Solution

https://dl.doubtnut.com/l/_8Cf01RA4dndY
https://dl.doubtnut.com/l/_ptYwGn8AlGpq


1. State Newton's law of gravitational.

Watch Video Solution

2. State whether the gravitational force

between two masses is attractive or repulsive

?

Watch Video Solution

https://dl.doubtnut.com/l/_ptYwGn8AlGpq
https://dl.doubtnut.com/l/_oyqpRzMFLHSo


3. Write an expression for the gravitational

force of attraction between two bodies of

masses  and  separated by a distance r .

Watch Video Solution

m1 m2

4. How does the force of attraction between

the two bodies depend upon their masses and

distance between them ? A student thought

that two bricks tied together would fall faster

than a single one under the action of gravity.

https://dl.doubtnut.com/l/_gWG8KpiOS0U7
https://dl.doubtnut.com/l/_7P1L4eLBJ9BJ


Do you agree with his hypothesis or not ?

Comment.

Watch Video Solution

5. How is the gravitational force between two

masses affected if the separation between

them is doubled ?

Watch Video Solution

6. Define gravitational constant G.

https://dl.doubtnut.com/l/_7P1L4eLBJ9BJ
https://dl.doubtnut.com/l/_IaU0K2yPFsY7
https://dl.doubtnut.com/l/_ZdWlB07Elw5Y


Watch Video Solution

7. Define gravitational constant G.

Watch Video Solution

8. What is the importance of universal law of

gravitation?

Watch Video Solution

https://dl.doubtnut.com/l/_ZdWlB07Elw5Y
https://dl.doubtnut.com/l/_orIJpLq7z0Zs
https://dl.doubtnut.com/l/_Ebv9eD3SnMJV


9. What do you understand by the term force

due to gravity ?

Watch Video Solution

10. Write an expression for the force due to

gravity on a body of mass m and explain the

meaning of the symbols used in it.

Watch Video Solution

https://dl.doubtnut.com/l/_u8SBG58JMhec
https://dl.doubtnut.com/l/_yBoGkxcG3s6K


11. Define the term acceleration due to gravity.

State its average value.

Watch Video Solution

12. Write down the average value of g on the

earth's surface.

Watch Video Solution

https://dl.doubtnut.com/l/_Kj2b4WjDG1LV
https://dl.doubtnut.com/l/_m9gfSTy1KCqK


13. How is the acceleration due to gravity on

the surface of the earth related to its mass

and radius ?

Watch Video Solution

14. How are g and G related ?

Watch Video Solution

https://dl.doubtnut.com/l/_DkM7Ziqt7ozH
https://dl.doubtnut.com/l/_cFfpNakahHej


15. A body falls freely under gravity from rest

and reaches the ground in time t. Write an

expression for the height fallen by the body.

Watch Video Solution

16. A body is thrown vertically upwards with an

initial velocity u. Write an expression for the

maximum height attained by the body.

Watch Video Solution

https://dl.doubtnut.com/l/_EBvGqtkMBWal
https://dl.doubtnut.com/l/_KuRbPUCT2Qny
https://dl.doubtnut.com/l/_ItBp74zfi6Jj


17. Define the terms mass and weight.

Watch Video Solution

18. State three differences between mass and

weight.

Watch Video Solution

19. Name the S.I. unit of mass and define it.

Watch Video Solution

https://dl.doubtnut.com/l/_ItBp74zfi6Jj
https://dl.doubtnut.com/l/_mbY80gOUtXEv
https://dl.doubtnut.com/l/_yKtOFMsX4x2C


20. State the S.I. units of weight .

Watch Video Solution

21. The weight of an object at the centre of the

earth of radius R, is

Watch Video Solution

https://dl.doubtnut.com/l/_yKtOFMsX4x2C
https://dl.doubtnut.com/l/_2YwZ0cF8wDhu
https://dl.doubtnut.com/l/_EkAvYMUmGbdu


Exercise 3 E Multiple Choice Type

22. Which quantity : mass or weight, does not

change by change of place ?

Watch Video Solution

23. Explain the meaning of the following

statement '1 kgf = 9.8 N' .

Watch Video Solution

https://dl.doubtnut.com/l/_GOhvynmffGtA
https://dl.doubtnut.com/l/_ikNz7GGwj4Bq
https://dl.doubtnut.com/l/_47VVRyqg6e4b


1. The gravitational force between two bodies

is :

A. always repulsive

B. always attractive

C. attractive only at large distances

D. repulsive only at large distances.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_47VVRyqg6e4b


2. The value of G is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

9.8Nm2kg − 2

6.7 × 10− 11Nm2kg − 2

6.7 × 10− 11ms − 2

6.7Nkg − 1

https://dl.doubtnut.com/l/_rjMZ3m7jY639


3. What is the force of attraction between two

masses each of 1 kg kept at a separation of 1

m?

A. 9.8 N

B. 6.7 N

C. 980 N

D.  N

Answer: D

Watch Video Solution

6.7 × 10− 11

https://dl.doubtnut.com/l/_B1HWXLukHGGl


4. A body is projected vertically upward with

an initial velocity u. If acceleration due to

gravity is g, find the time for which it remains

in air.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

u

g

ug

2u

g

u

2g

https://dl.doubtnut.com/l/_PTASVJkaRLAN


5. An object falling freely from rest reaches

ground in 2 s. If acceleration due to gravity is

, then what will be the velocity of

object on reaching the ground?

A. 

B. 

C. 

D. zero

9.8m s − 2

9.8ms − 1

4.9ms − 1

19.6ms − 1

https://dl.doubtnut.com/l/_PTASVJkaRLAN
https://dl.doubtnut.com/l/_7xddpSYNsIJO


Exercise 3 E Numericals

Answer: C

Watch Video Solution

1. The force of attraction between two bodies

at a certain separation is 10 N. What will be

the force of attraction between them if the

separation is reduced to half ?

Watch Video Solution

https://dl.doubtnut.com/l/_7xddpSYNsIJO
https://dl.doubtnut.com/l/_ALvG1jyfUidf


2. Write the approximate weight of a body of

mass 5 kg. What assumption have you made ?

Watch Video Solution

3. Calculate the weight of a body of mass 10 kg

in kgf . Take  .

Watch Video Solution

g = 9.8m s − 2

https://dl.doubtnut.com/l/_orVrnnqxHOg8
https://dl.doubtnut.com/l/_gxK1nnyVYpBT


4. Calculate the weight of a body of mass 10 kg

in newton . Take  .

Watch Video Solution

g = 9.8m s − 2

5. State the magnitude and direction of the

force of gravity acting on a body of mass 5 kg.

Take 

Watch Video Solution

g = 9.8ms − 2

https://dl.doubtnut.com/l/_IYb09tsADhAE
https://dl.doubtnut.com/l/_Dh6lFDyCswRy


6. The weight of a body is 2.0 N. What is the

mass of the body ? (g = 10 m )

Watch Video Solution

s − 2

7. The weight of a body on earth is 98 N where

the acceleration due to gravity is 9.8 m .

What will be its mass .

Watch Video Solution

s − 2

https://dl.doubtnut.com/l/_uWWVtalrPk9y
https://dl.doubtnut.com/l/_0GlE0W2HtFqh


8. The weight of a body on Earth is 98 N, where

acceleration due to gravity is ? What

will be its weight on the Moon, where

acceleration due to gravity is  ?

Watch Video Solution

9.8m s − 2

1.6m s − 2

9. A man weighs 600 N on the Earth. What

would be his approximate weight on the Moon

if the value of acceleration due to gravity of

moon is  of that of the earth?1/6th

https://dl.doubtnut.com/l/_0gZTvdLXJCcK
https://dl.doubtnut.com/l/_HAQ15QZpjLmc


Watch Video Solution

10. What is the force of gravity .

Watch Video Solution

11. What is the weight of a block of mass 10.5

kg ? Take g=

Watch Video Solution

10ms − 2

https://dl.doubtnut.com/l/_HAQ15QZpjLmc
https://dl.doubtnut.com/l/_di1TTZq2GpNu
https://dl.doubtnut.com/l/_Pc1Q3A4d7eqS


12. A ball is released from a height and it

reaches the ground in 3 s. If ,

find the value of the height from which the

ball was released.

Watch Video Solution

g = 9.8m s − 2

13. A ball is released from a height and it

reaches the ground in 3 s. If ,

find the value of the velocity with which the

ball will strike the ground.

g = 9.8m s − 2

https://dl.doubtnut.com/l/_NOAonl3LO0GK
https://dl.doubtnut.com/l/_wF2mUd6SiR6q


Watch Video Solution

14. What force, in newton, your muscles need

to apply to hold a mass of 5 kg in your hand ?

State the assumption.

Watch Video Solution

15. A ball is thrown vertically upwards. It goes

to a height 20 m and then returns to the

ground. Taking acceleration due to gravity g to

https://dl.doubtnut.com/l/_wF2mUd6SiR6q
https://dl.doubtnut.com/l/_FikSBcwZCvC8
https://dl.doubtnut.com/l/_6e4ssFu49iLv


be  ?, find the initial velocity of the

ball

Watch Video Solution

10m s − 2

16. A ball is thrown vertically upwards. It goes

to a height 20 m and then returns to the

ground. Taking acceleration due to gravity g to

be  ?, find the final velocity of ball on

reaching the ground

Watch Video Solution

10m s − 2

https://dl.doubtnut.com/l/_6e4ssFu49iLv
https://dl.doubtnut.com/l/_AIczUBUUYTpu
https://dl.doubtnut.com/l/_dxIjh4dmmaEG


17. A ball is thrown vertically upwards. It goes

to a height 20 m and then returns to the

ground. Taking acceleration due to gravity g to

be  ?, find the total time of journey of

ball.

Watch Video Solution

10m s − 2

18. A body is dropped from the top of a tower.

It acquires a velocity 20 m  on reaching

the ground. Calculate the height of the tower.

(Take g = 10 m )

s − 1

s − 2

https://dl.doubtnut.com/l/_dxIjh4dmmaEG
https://dl.doubtnut.com/l/_LyNMYIimtBsi


Watch Video Solution

19. A ball is thrown vertically upwards. It

returns 6 s later. Calculate the greatest height

reached by the ball

Watch Video Solution

20. A ball is thrown vertically upwards. It

returns 6 s later. Calculate the initial velocity

of the ball. (Take  )g = 10m s − 2

https://dl.doubtnut.com/l/_LyNMYIimtBsi
https://dl.doubtnut.com/l/_4R4BewJrSTmm
https://dl.doubtnut.com/l/_aLIRvOTTpwOE


Watch Video Solution

21. A pebble is thrown vertically upwards with

a speed of 20 m . How high will it be after

2 s? (Take g = 10 m )

Watch Video Solution

s − 1

s − 2

22. How long will a stone take to fall to the

ground from the top of a building 80 m high

and What will be the velocity of the stone on

reaching the ground? (Take )g = 10m s − 2

https://dl.doubtnut.com/l/_aLIRvOTTpwOE
https://dl.doubtnut.com/l/_v5Tt44NgviVA
https://dl.doubtnut.com/l/_aoppoUEVG69B


Watch Video Solution

23. How long will a stone take to fall to the

ground from the top of a building 80 m high

and What will be the velocity of the stone on

reaching the ground? (Take )

Watch Video Solution

g = 10m s − 2

24. A body falls from the top of a building and

reaches the ground 2.5 s later. How high is the

https://dl.doubtnut.com/l/_aoppoUEVG69B
https://dl.doubtnut.com/l/_9U2Ox6PohIu3
https://dl.doubtnut.com/l/_zEmEJoojy67D


building ? (Take g = 9.8 m )

Watch Video Solution

s − 2

25. A ball is thrown vertically upwards with a

velocity of 49 m/s. Calculate 

(i) the maximum height to which it rises,

(ii) the total time it takes to return to the

surface of the earth.

Watch Video Solution

https://dl.doubtnut.com/l/_zEmEJoojy67D
https://dl.doubtnut.com/l/_LlcxaqSmvgWB


26. A ball is thrown vertically upwards with an

initial velocity of 49 m . Calculate the time

taken by it before it reaches the groung again

(Take g= 9.8 m )

Watch Video Solution

s − 1

s − 2

27. A stone is dropped freely from the top of a

tower and it reaches the ground in 4 s. Taking

g = 10 m , calculate the height of the

tower.

s − 2

https://dl.doubtnut.com/l/_7vtZ5tKeLuPH
https://dl.doubtnut.com/l/_L5RvozHswvv2


Watch Video Solution

28. A pebble is dropped freely in a well from its

top. It takes 20 s for the pebble to reach the

water surface in the well. Taking 

and speed of sound = . Find the

depth of water surface

Watch Video Solution

g = 10 m s − 2

330m s − 1

29. A pebble is dropped freely in a well from its

top. It takes 20 s for the pebble to reach the

https://dl.doubtnut.com/l/_L5RvozHswvv2
https://dl.doubtnut.com/l/_2mJ16o2gEP0g
https://dl.doubtnut.com/l/_sl59umlEOiDz


water surface in the well. Taking 

and speed of sound = . Find the time

when sound is heard after the pebble is

dropped.

Watch Video Solution

g = 10 m s − 2

330m s − 1

30. A ball is thrown vertically upwards from

the top of a tower with an initial velocity of

19.6 m  . The ball reaches the ground after

5s. Calculate the height of the tower .

Watch Video Solution

s − 1

https://dl.doubtnut.com/l/_sl59umlEOiDz
https://dl.doubtnut.com/l/_w5JFkSrVOVip


31. A ball is thrown vertically upwards from the

top of a building of height 24.5 m with an

initial velocity 19.6 m . Taking g = 9.8 ms,

calculate : the velocity with which it will strike

the ground .

Watch Video Solution

s − 1

https://dl.doubtnut.com/l/_w5JFkSrVOVip
https://dl.doubtnut.com/l/_w2KfPz0WxTCg

